
 

1. When the Verandah will lock up the 

animals (for manure ridding), the chain-

supported fence is linked to the rear gates 

by the spring hooks clicked into the lifting 

eye bolts of the gates. 

 

 

 

 

 

 

When the Verandah is open at the rear, the 

chain-supported fence rests in its supports 

(IV1220) designed for this. 

 

 
2. Screw the braces (flat bars) for the roof 

crossbeams (IV1710) to the lateral 

segments (IV1110) (10 x 30mm or 10 x 

100mm) and secure them into place by 

bolts that go all the way across the beams 

(10 x 130mm) and washers (58mm). This 

means that 11mm bores have to be drilled 

into the wooden crossbeams. The lateral 

overhangs of the roofing are approx. 1.0m. 

Screw the wood screws (10 x 100 mm) 

vertically through the front/rear segment 

into the wooden beams. 

Note: If a crossbeam is slightly bent, it is 

recommended that it is installed at the front 

or the rear segment. In this case, it can be 

aligned by pushing it where it should go 

before it is secured by the screws. 

 

3. If you decided that your Verandah would be 

moved sideways for manure ridding, then 

install the transport hook (IV1740) at the 

central beam, at the side opposite the 

wheels (10 x 100mm wood screws). 

 



4. Place one width of roofing on the 

crossbeams and position it at angles. The 

plastic coating should be on the top side. 

The roofing overhangs are approx. 1.25m at 

the front and rear segments and approx. 

1.0m at the lateral segments. It is secured in 

place by wood screws set into the hollows 

of the trapeze-mould sheet (5.5 x 65mm 

with neoprene sealing washers). 

 

5. When all 7 widths of roofing are installed, 

they are fastened to each other at their 

joints by self-tapping metal screws (5.5 x 

25mm with neoprene sealing washers) set 

approx. every 40cm. 

 

 

 

 

 
 

6. To install the rain drain, unroll the sheet on 

a level, continuous surface. Then screw it to 

a roofing lath with self-tapping Spax 

screws. 

Caution: Be sure that the grey side faces the 

lath while the black side faces the other 

way. 

 

 

 
 

7. Shorten the lath to the length of the sheet. 

 



8. Use a chalk line to mark a line all the way 

aceoss the top side of the roof, at 10cm 

from the edge of the roof. 

 

9. Secure the sheet to the top side of the roof 

along the marked line, using self-tapping 

metal screws (5.5 x 25mm with neoprene 

sealing washers) set into the raised parts of 

the roof. 

 

10. Use a chalk line to mark another line on the 

bottom side of the roof, at 18cm from the 

edge of the roof. 

 

11. Set self-tapping metal screws (5.5 x 35 mm 

with neoprene sealing washers) into the 

hollows of the roof segments and screw 

them into the roofing lath. 

 



12. To make setting the screws easier, it is 

recommended to put another lath under the 

roof to support it. 

 
 


